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Note : This paper is of Seventy (70) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the

detailed instructions given therein.
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Section — A / ©@vs —&%
(Long Answer — type questions) / (ST€ @RI arel o)
Note: Section 'A' contains Five (05) long-answer-type
questions of Nineteen (19) marks each. Learners are

required to answer any two (02) questions only.
[2x 19 =38]

dle : @ve ‘& ¥ U (05) “" I@Ri dtel wed A
T 8, Ud U2 & oy I+ (19) 3fd FeiRa
2| Rrenfeal &1 g9 | dad 7 (02) Ul B
IR o T

Q.1.  What is cost Accounting? Explain the objects and
benefits of Cost Accounting.
ANTT oRGIb= T 8?7 AN oi&idhd & S Ud
AT BT TR HIRT |

Q.2.  Explain FIFO and LIFO methods of valuation of
material Issues? What is the effect of rising and falling
prices under these methods of pricing the material

issues? Explain with examples.
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AT R & Jeid @ “elhl” g "Hiel A
BT ARAT DI | AT FRET & Brva FeiRor &
g9 fafal & = Td dedl Ud Tedl dIEdi bl T
U{TG BT 2?7 SSTER0T Afed et S |

Q.3.  What do you understand by cost sheet and statement of
cost? Give proforma of cost sheet and statement of cost
with imaginary data.

ST U5 T AT fIaRoT 4 39 91 FHerd 2?7 AT
UF U ARTd [daR0T BT UTHY Sl d fdel & AR
TR SIS |

Q.4. A Product passes through three processes. The

information of three processes are given below:
Particulars Total Process A | Process B | Process C

Rs. Rs. Rs. Rs.

Material 84,820 20,000 30,200 34,620
Direct Labour cost 1,20,000 | 30,000 40,000 50,000
Direct expenses 7,260 5,000 2,260 -
Production overhead 60,000 - - -
Normal loss in output - 10% 5% 10%
Sale of scrap per unit - Rs.30 Rs.50 Rs.60
Production in Units - 920 units 870 units 800 units
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1,000 units of Rs.50 per unit were introduced to Process

A. There were no stock of materials or work in progress

in any process at the beginning or at the end. Production

overhead are allocated to each process on the basis of

50% of direct labour cost.

Prepare Process Accounts.

TUh IAE O ufhamel ¥ gaR oRdT g dE

[CERG IRT gfssar vo | wfesar do | ufssar do
0 0 0 %0

TARA 84,820 20,000 30,200 34,620

T S oATTd 1,20,000 | 30,000 40,000 50,000

ey & 7,260 5,000 2,260 -

SATEd IIRETT 60,000 - - -

ST H 9 & | — 10 ufaerd | 5 ufaera | 10 ufaerd

Taey @1 fama wia | — 0 30 0 50 %060

EEQE]

SAET gHISal H - 920 870 800 SIS

EEARD| EEARD|

gfehaT TO DI 1,000 SHISAT WO 50 U Sbls Pl X
| e &1 Y| B o ufshar § |/Enh serar 9]
R BT B W URMIE g9 f<m Wi T8 B
IATGH SURSRT BT UAS UhaT H Uael 519 R
@ 50 UROIT & MR W arEfed fovar T ¥

gfshaT @ IR BT |
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Q.5.  From the information given below

(1) determine the profit as it would be shown by

cost accounts, and

(i1) prepare a statement reconciling with profit as

shown by financial accounts.

Trading and Profit and Loss Account

(For the year ended 31% December, 2022)

Rs. Rs.

To Material 1,00,000 | By Sales 2,00,000
consumed 50,000 | (1,00,000
To Direct Wages 30,000 | units)
To Works overheads 9,000
To Office overheads 6,000
To Selling and
distribution cost 5,000
To Net profit

Rs. | 2,00,000 Rs. | 2,00,000

The normal output of the factory is 1,50,000 units.
Work overheads of a fixed nature is Rs.18,000. Office
expenses are constant. Selling and distribution cost are
constant to the extent of Rs.3,000 and the balance

varies directly with sales.
fforRaa gammell | (1) ard o # yefRia 8m
el A H R By iR (2) i orar #
TRl 8 drel o™ | WHRIEE 2q [9eRer U5 IR

PITY |
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IR Uq o™ AR B @ar (31 faw=R 2022 &t

THIRT BF drel 99 & forv)
0 0

SUHRT BT T FARA 1.00,000 fassa (1,00,000 | 2,00,000
Ty 5 50,000 EEaER)
HRET IURST 30,000
BT SURSE 9,000
g dq faaqRor arTd 6,000
& A 5,000

%0 | 2,00,000 %0 | 2,00,000

HRE BT ATHRI ITeT 1,50,000 SHISAT © | ReR
U@ & HREMT SURLT [0 18,000 B | BRI 2

Rer €| fashy Ug faavor aRTd 3,000 w0 T ReR &
3R Y fIpy & 1 e WU H gRadie 2 |

Section— B/ EUs —

(Short-answer-type questions) / Frq,ﬁ?f qrel e
Note: Section 'B' contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.
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e : @re @ H 3 (08) oY Swi¥i dlel ¥ ey

Q.1

Q.2.

Q.3.

Q.4.

T E, AP U & foru o1ms (08) 3fd fAeiRa
g | Renffat o1 g8 | $aa IR (04) U B
SaR < B

Distinguish between Direct Expenses and Indirect

Expenses.

Ugel It Uq JUhe] Al H IR W HIfOTU |

Explain fixed, variable and semi variable overheads.
ReRr, aRad-Telicl Ya srg—aRad-eiel SuReqdl @
AR HIFTY |

What do you mean by sub-contract cost? Explain.
JU—SHT ARTA A 3TUHT T LI 2° AR DY |

Define the terms "by product" and "Joint Product" and

explain how they are valued in cost Accounting?

STE” VgAY S @] Bl GRAINT BIfTg
g FRAT BN b g8 aNa okdied H bd
qedifhd far S 22
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Q..

Q.6.

Q.7.

Q.8.

Explain the meaning and uses of marginal costing.

A ArTa fafer & aref Ja SUATT @) aRer Sy |

What do you mean by Break even point? Explain by
constructing a break even chart with imaginary data.
FH—faeee fa=g & SMMUd FAT T 87 HIUMD ATHel
B IAER R FH—{Iewg a¢ B IRAT PITO |

What is Material cost variance? Explain its elements
with formulas.

AT ARTa feRnY T 27 §9a dcdl @ Bl
Afed ARAT HINY |

What is labour turnover and how it is measured?

ST Jad T § IR 59 DA HJUT ST &7

sk sk sk s s e ok ok ok ok sk sk sk sk sk sk sk sk sk sk ok
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